
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser med potens på ti (manglende tall)

2, 888 × ________ = 2888 1, 642 × ________ = 164.2

3, 028 × ________ = 3028 3, 566 × ________ = 35.66

7, 767 × ________ = 7767 4, 744 × ________ = 4744

4, 589 × ________ = 4589 2, 567 × ________ = 2567

8, 778 × ________ = 877.8 9, 813 × ________ = 98.13

7, 27 × ________ = 7270 5, 568 × ________ = 5568

10, 496 × ________ = 104.96 10, 944 × ________ = 109.44

2, 737 × ________ = 27.37 1, 356 × ________ = 13.56

10, 248 × ________ = 102.48 6, 118 × ________ = 611.8

8, 706 × ________ = 8706 3, 597 × ________ = 359.7
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser med potens på ti (manglende tall)

2, 888 × 1000 = 2888 1, 642 × 100 = 164.2

3, 028 × 1000 = 3028 3, 566 × 10 = 35.66

7, 767 × 1000 = 7767 4, 744 × 1000 = 4744

4, 589 × 1000 = 4589 2, 567 × 1000 = 2567

8, 778 × 100 = 877.8 9, 813 × 10 = 98.13

7, 27 × 1000 = 7270 5, 568 × 1000 = 5568

10, 496 × 10 = 104.96 10, 944 × 10 = 109.44

2, 737 × 10 = 27.37 1, 356 × 10 = 13.56

10, 248 × 10 = 102.48 6, 118 × 100 = 611.8

8, 706 × 1000 = 8706 3, 597 × 100 = 359.7
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